VERBALLY

45 is 40 and 5.
4D + 5= 45
45 = [l tens 8 ones

2. Addls5and 17.

15+17=01
@ Add the cnes.

1

15

1 2>
J 1 7

4

Sconas+7ones=12 ones

Regroup 12 ones.
12 anes = [ tan Il ones

8 Add the 0.
1

)
7

!
1
= 7
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DO

3. Subtract 18 from 34. T o,
Wea cannot subiract
34-18=H A ones from 4 ones.

0 Regroup the tens.
Jtans 4 ones = 2 tens 14 ones

@ Subiract the .

Tens | Ones

79
59
e
A A
AA
AA
AA




DO

Lesson 1 Addition and Subtraction
Without Regrouping

You will leam to...
add o 1-gigit number and a 2-digit number
add twia 2-0igil numbers
subfract a 1-gigit numaer from & 2-digit number
subtract o Z-digit numaer from g 2-digit number

Adding ones

Add 54 and 3,

54+3=H

@ Add the ones.

5] 54+3=57




Adding tens
Add 62 and 30.
62+30 =l
= "ERR _ : © Add the ones.

s [ ones

4 2Z
e O [
£

8 Add the tens.

6 2
+ 3 0

¥ 2




DO

Adding two 2-digit numbers

Add 32 and 14,
2+16=0

@ Add the ones,

Tens | Ones

o s
+ ] 4
B

@ Add the fens.

o | ones

3

+

m32+16=4ﬁ 4

1. Add.

d) M+12=____




DO

ﬂ\;) Addition and
— = Subtraction Within 100

Exercise 1 Addition and Subtraction
Without Regrouping

.




h) 76+2=

Click here:




